Somma per differenza

Calcolai seguenti prodotti notevoli.

Esempio: (a + b)(a — b) = a® — b2
1. (112% + 109®) (—1125 + 10y8)
2. (1627 + 11y°)(—1627 + 11y°)
3. (4a® — 7b%)(4a® + 785)

4. (225 + 10y?)(22° — 10y?)
5. (—11a'® + 2%)(11a'° + 2b7)
6. (4a” — 126°)(—4a"” — 12b%)
7. (723 +199°) (=723 + 19°)
8. (—10a® + 13b5)(10a8 4 13b°)
9. (—1922 — 12%)(1922 — 124%)
10. (222 + 15y3)(22% — 15¢?)
11. (~16a — 8b")(—16a + 8b")
12. (1227 4 16y7) (1227 — 16y7)
13. (—a” — 5b%)(a” — 5b°)
14. (3a® + 4b°)(—3a® + 4b%)
15. (=112 + 16y%) (- 1121 — 16¢?)

16. (7a + 5b%)(7a — 5b%)
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[100y16 — 121212

(12140 — 25621]

[16a% — 49b'2]

[4210 — 100y"]

[4b'8 — 121420

[144b'8 — 16a'?]

[361y10 — 4929]

(16952 — 100a'?]

[144y*0 — 36124

[42% — 225y9]

[256a2 — 64b1]

[1442'% — 256y'4]

[25b612 — al]

(16618 — 9a10]

[1212%° — 25639

[49a2 — 25b18]

Per info contattare: speak@redooc.com



